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Consider the following diagram, which represents a migration from a Baseline to a Target Architecture:

Baseline L Target

Which of the following answers best interprets the unlabeled symbol in the middle of the diagram?

A. It represents a relatively stable intermediate state during the migration from the Baseline to the
Target Architectures

B. It represents a project that progresses the architecture from Baseline to Target

C. It represents the deliverables necessary to transform the architecture from Baseline to Target

D. It represents a conceptual point of transition between the two architectures, but one that is unlikely
to exist in reality for more than an instant

Answer: A

Which application layer concept is defined as a passive element?

A. Application component
B. Application function

C. Data object

D. Business object

Answer: C

The following diagram shows an example of the use of the Migration viewpoint:
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Which of the following best describes a reason for using this viewpoint?

A.To model the management of architecture change

B.To help determine the priorities of implementation projects

C.To relate programs and projects to the parts of the architecture that they implement

D.To help in planning the transition from the current architecture to a desired future architecture

Answer: D

Consider the following diagram, in which CSR stands for Customer Service Representative:

Customer
Satisfaction
CSR Job - ,
Satiefaction CSR Training CSR Retention
Customer
Retantion

Which of the following statement is expressed by the diagram?

A. CSR Training has four key modules, each focusing on a different topic
B. The CSR Training business service is valuable in four different ways

C. CSR Training is a basic service, upon which four sub-services depend
D. CSR Training accesses four different types of information

Answer: B
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Which ArchiMate concept describes the behavior of a business collaboration?

A. A business interaction
B. A business event

C. A business process

D. A business service

Answer: A
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